Answers to Ch 13 Review Sheet
1. E

2. C

3. B

4. C

5. D

6.  
a)  
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b)  
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Check all conditions.  Draw picture.  Z = -.3854  P = .6999

Since our P-value = .6999 is so high, there is not enough evidence to reject Ho.  There is not enough evidence to say that there is a difference in the proportion of people experiencing drowsiness using Seldane or the placebo.
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Check all conditions. (Not random) Draw picture.  t = 1.2867, df = 10.497, P = .2258
Since the P-value is so high, there is not enough evidence to reject Ho.  There is not enough evidence to say that one typing program is better than the other.
8. a)
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. Check all conditions. (Not random and n not big enough to assume normality). Draw picture. t = 1.6537, df = 37.598, P = .0533.  Since the P-value is less than .10, there is evidence at the 10% significance level to reject Ho.  There is evidence that breast-fed babies have a higher mean hemoglobin level than formula fed babies.

b)  Conditions (see above). 
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 = (plug numbers in) = (-.2021, 2.0021)
We are 95% confident that the true mean difference in hemoglobin levels for breast-fed babies – formula fed babies is between -.2021 and 2.0021.

9.   a)  Using a paired t-test (1 sample t-test) on the DIFFERENCES in blood pressure (during – before), the P-value ends up being .0243…since this value is so low, there is strong evidence to reject Ho 
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= the true mean difference in blood pressure (during – before) and say that there is a difference in the blood pressures of the accountants during tax season.

b)  If your did a 2-SAMPLE t-TEST, using the two lists as separate samples, the resulting P-value = .365.  In this case we would FAIL to reject 
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 and say there is not evidence of a difference of the mean blood pressure during and before tax season 

c) The paired t-test is much more appropriate since the data is PAIRED.  It is the same person’s blood pressure each time.
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